April 26, 2012

Unit 9 Review

9.1/9.3 Combinations, permutations and probability
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16. How many ways can 4 red flowers, 3 yellow
flowers, and 6 purple flowers be planted in a row?

‘5l (’:27'71 020, 800

17. What is the probability of drawing 3 kings and
2 queens from a standard deck of 52 cards?

How many "words" can you make with the letters
from: MISSISSIPPI ”!
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9.2 The Binomial Theorem
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4
Expand (X — 2y) using the binomial theorem
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9.4 Sequences

Arithmatic | Geometric
\anzaﬁ'd(fl—i)/ ] an:a\.rn—l J
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Explicit vs. Recursive

2,4,8,16, 32,...

b=-land b, =b, +10 for k21
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Find an explicit formula for the  Find an explicit formula for the
sequence, find the 10th ferm sequence, find the 10th term

2 2,6, 10, . 2,6, 18,54, ...
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9.4 Series P
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9.7/9.8 Statistics

Stem and Leaf plots

221
Five number Summary

2Ny Gy ek, Q- foa 4 |

Standard Deviation 3
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68-95-99.7 Rule L. ._‘
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The owners of a restauraglidfermine-that the number of minutes that
a customer waits/to be Ser 4@‘;@1”', armally distkibuted with a mean of 6
minutes and a standard deyiatiqgy omin es.
A g
11. Whatis th probgﬁil' ¢ thatfaraddon ,ele‘ ed customer will be
served in lessfthan 4 minttes? ,;/
57,

49,

12. During a survey,500 customers are served. How many would you
expect to be served in less than 8 minutes?

4T, =120

13. If 1000 customers are served, how many would you expect to wait

between 4 minutesBaLn{d *1:. ;;u:s”% |5 0/\7 l “\)@)




